Review.                  Periodic table.                 Homework       Name_________________________ Period____
1.- Given the electron configuration of the element, 

Element 1: 1s22s22p63s23p64s1
Element 2:     1s22s22p63s23p64s23d104p1    Element 3: 1s22s22p63s23p64s23d104p6

Indicate the location in the periodic table:
a) Group:____ b) Period _____ c) Block:______ (s,p,d,f) d) Classify the element as representative, transition metal, alkali, halogen or noble gas.
                                                            Period 4    Group 1A    Block: s   Alkali (it ends in s1  ), representative (1A).                
                        
Answer for element 1:  1s22s22p63s23p64s1

2.- Write the symbol of:

 a) Noble gas of period 3,____ b)  alkali metal of period 6____ c) the halogen of period 2____.  d) A metalloid______  
 e) A transition metal_____  
3.- Why do elements potassium and sodium have similar chemical properties?
    Answer:   They have similar chemical properties because they have the same number of valence electrons (they both belong to group 1A).
4.- Why do elements chlorine and fluorine have similar chemical properties?
5.-  Explain why elements in the same group on the periodic table have similar chemical properties.
Answer:  Elements in the same group on the periodic table have similar chemical properties, because they have the same number of valence electrons. Valence electrons determine the chemical properties of an element.     
6.- Determine the group, period, and block of an atom with the following electron configurations.

a. [Ne]3s2 3p1 b.  [Kr]5s24d105p4     Answer for a): Group 3A (s2 p1 ),  period 3 (3s  3p )  Block p (p orbital is being “filled”)
Note: The question does not ask for the name of the element. Element (a) would be Aluminum. 

3.- Indicate the element that fit the given description. Explain your answer: 
____ The Alkaline metal whose atom has the larger radius.
____The least  electronegative element in group 6A.
____The element of the 3th period whose ionization energy is the smallest.

____Two elements whose chemical properties are similar to sodium
____The Halogen element of highest electronegativity.

____ The element in period 3 whose atom has the larger radius.

Electromagnetic spectrum review

1. Violet light has a wavelength of 4.10 x 10-12 m. What is the frequency
2. Green light has a frequency of 6.01 x 1014 Hz. What is the wavelength?
3. Calculate the wavelength of radiation with a frequency of  8.0 x 1014 Hz.
4. Calculate the energy of a gamma ray photon whose frequency is 5.02 x 1020 Hz?
5.  Calculate the energy of a photon of radiation with a wavelength of 6.4 x 10-7 m.
------------------------------------------------------------------------------------------------------------
E = h c  

h = 6.626 x 10-34 J. s (Planck constant).         c = 3.00 x 108 m/s     or     c = 3.00 x 1010 cm/s   (speed of light) 
Note: valence electrons  =  the electrons in the highest occupied energy level  = electrons in the outermost level of energy.
